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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - VI + EXAMINATION - SUMMER- 2017

Subject Code:3361902
Subject Name: Tool Engineering
Time: 10:30 AM TO 01:00 PM

Instructions:
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Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. €2HIl SlEURL Alclotl scllol WL

Define tool engineering.

2 Weolla3oL. ofl cautvaal v
Define (1) Jig (2) Fixture

clluAl AL (1) 3L (2) &8%{1{?
State the functions of pilot.

wecle ol sl dul.

Define process planning.

WA welllodot ofl cavaal W .
State importance of a pressure plate.
QAR A2 of Hecel wRU .

State the function of striper plate.
BlUR W of sl esuudl.

What is knock-out?

olls A2 9 B?

Name the various cutting tool materials.

uE-%El 520l 2 HAl\aAAU oltH WL

When liner bush is used in drilling jig?
(3(AdL oIHl AlBelR o2l LR cAURIU B?
What is meant by locating and clamping?

Aol A sAHMNL ol wel 9 B?

State the duties of tool engineer.
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Why tungsten, vanadium and molybdenum metals are added in tool materials.
golReat,dalslan. wal Wellodatr tld gt H3lZlaAAML 2L W GRR ML

wlA B?
Draw tool geometry of a single point cutting tool.
o Wse sdlol g ofl “ect 2=AAZ” €.

OR
Draw tool geometry of a twist drill.

edlze gldell “ecd 0NN €12
Write short note on cemented carbide tool.
YN2s sollFs 2t UR 25l vl

OR
Explain how economy can be achieved in fixed cost.

($s5us SlReHl $sUR 58 A RoclallHl A & UHEsAl
Explain 3-2-1, principle of location.
ABAotoll 3-2-1 Rgict U,

OR
Why Jigs and Fixtures are used in mass production?

%90l Vol ($52URell GUAOL HIAM YLSSUAHL AL HIZ ScML A BD?

Differentiate jig and fixture.
%)l Ul Gs&%—'d?otl cslcc yUl.

OR
Name the various Jigs. Explain template Jig.

AEL WEL I ol ollH AVll. 2HWAR I UMl
Sketch and explain renewable bushes.
UlglA WA YAl of2l AUl

OR
When headed bush is used in jig? Draw its sketch.

®IHL 335 ¢f3l oll GURADL KUR AU B?

Name the quick acting clamps. Explain cam operated clamp with sketch.
sclls As(Bol SAQU ol HIH WU, FH URLS s A5l A
AHestal.

OR
List locating devices, explain” V” locator with sketch.

Aol SlausRU ol alel 5, “v» AdeR wgcdl WA Al

Explain the principle of metal shearing.
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(s)  Aed AR4Bal Al Rgld dAHA

OR
(d) Explain with neat sketch the Bulging die.

(5) R Algdl €131 wleaslol sie AU,

Q4 @) Classify press tools according to process.
Ysl ¥ () R ol AR YA 2 of aofls:wl 5.

OR
@ Classify press tools according to construction.

(RA)  olulReL ol AUR YA e of aols:wL 52
(b) Draw neat sketch of Die-Punch assembly, Name its various parts.
(@) st8 U AA1clloll ey gl €R), Aott QAU ool ot .

OR
(b) Explain any two methods of reducing cutting force with sketch.

(@)  s2lol QA watsalsll 818 Ul A Ad wgcl WA AxesAl

(©) Design a suitable milling fixture to mill a slot of 6 mm width and 4 mm depth
In a component as shown in fig. 1.Draw the assembly sketch showing
important components.

(5) gl 1 1 ol 0ot 6 mm USlOUE uA 4 mm QSIS Rcle
sl HIZ AR ($suell BiSat 5. Al WA oot Aol
Hoccoll ol galal

Q5 (@ Explain strip layout with suitable example.
sl U (W) A0 BELERRL AES U QulGe UHstAl.

(b) Explain following press operations (1) Blanking (2) Perforating
(3) Lancing (4) Embossing

() o{lActl YA AUt AHAA (1) oAl (2)UuRERElaL
(3) A{lot (¥) Wel{lat

(©) Find the Centre of pressure of a blank shown in figure no: 2

(5) gl 2 W eWAA 6Qos of AR 2y YR A

(d) Differentiate between forming and drawing die.

(s)  S{lot ste A B SIE ol dslald AU

(0} 1

04
(0} 1

03
03

03
03
04
(0} 1

04
(0} 1
07

09

04
(0} 1
04

0} 1

03
03
03
03



i e
o pti—

_}__ // | \\

6 — b

TN

(2,5

—b-‘

Fig.No. %




